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cosh? @ — sinh?60 = 1
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1 —tanh?6 = 5
cosh” 6

1 B 1
tanh’6#  sinh?6

I agooo
sinh(a 4+ ) = sinh acosh £ cosh asinh 3
cosh(a & ) = cosh acosh £ sinh acsinh 3
tanh o &= tanh 3
tanh(a + §) = 1 & tanh o tanh 3
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sinh 260 = 2 sinh 6 cosh 6
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cosh 20 = 2cosh?§ — 1 =1 + 2sinh? 0 = cosh? § + sinh? 0

2tanh 0

tanh 20 = ————
1+ tanh“ 8
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inh 260 =
S1n 1 — t2
1+t2
h 20 =
COS 1_ t2
2t
tanh 20 =
1+¢2
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sinh 30 = 3sinh @ + 4sinh® 6

cosh 30 = 4 cosh® @ — 3 cosh 6

tanh 30 — 3tanh # + tanh® 6
1+ 3tanh®6
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sin 5= 5
0 coshf +1
W22 ="'"
cos 5 5
6 coshf —1
tanh? = = ——~
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sinh cvcosh 3 = %(Sinh(a + () + sinh(a — [3))
. 1/ . .

coshasinh 8 = 3 ( sinh(a 4 ) — sinh(a — ﬁ))

cosh acosh 8 = %(cosh(a + ) + cosh(a — ﬂ))

sinh asinh 3 = é(cosh(a + ) — cosh(a — ﬁ))
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sinh A + sinh B = 2sinh ; cosh 5
sinhA—sinhB:2coshA—nginhA;B
A+ B A—B
cosh A + cosh B = 2 cosh —g cosh 5
coshA—coshB:2sinhA—i2_BsinhA;B

ooooooooo 42 =o,432=30000000000000000

— 00000000 http://wwwil2.plala.or.jp/ksp/ —



	平方関係
	 

	加法定理
	 

	２倍角の公式
	 

	３倍角の公式
	 

	半角の公式
	 

	積和の公式
	 

	和積の公式
	 


